
Ciklusi

z = 10x1 − 57x2 − 9x3 − 24x4

w1 = −0.5x1 + 5.5x2 + 2.5x3 − 9x4

w2 = −0.5x1 + 1.5x2 + 0.5x3 − x4

x3 = 1− x1

xi, wi ≥ 0

baza b x1 x2 x3 x4 w1 w2 w3

-z 0 10 -57 -9 -24 0 0 0
w1 0 0.5 -5.5 -2.5 9 1 0 0
w2 0 0.5 -1.5 -0.5 1 0 1 0
w3 1 1 0 0 0 0 0 1

x1 ≤ min{ 0
0.5

, 0
0.5

, 1
1
} = 0

x1 ↔ w1 ili x1 ↔ w2.
Biramo: x1 ↔ w1.

1. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z 0 0 53 41 -204 -20 0 0
x1 0 1 -11 -5 18 2 0 0
w2 0 0 4 2 -8 -1 1 0
w3 1 0 11 5 -18 -2 0 1

x2 ≤ min{0
4
, 1
11
} = 0

x2 ↔ w2.

2. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z 0 0 0 14.5 -98 -6.75 -13.25 0
x1 0 1 0 0.5 -4 -0.75 2.75 0
x2 0 0 1 0.5 -2 -0.25 0.25 0
w3 1 0 0 -0.5 4 0.75 -2.75 1

x3 ≤ min{ 0
0.5

, 0
0.5

} = 0
x3 ↔ x1 ili x3 ↔ x2.
Biramo: x3 ↔ x1.

3. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z 0 -29 0 0 18 15 -93 0
x3 0 2 0 1 -8 -1.5 5.5 0
x2 0 -1 1 0 2 0.5 -2.5 0
w3 1 1 0 0 0 0 0 1

x4 ≤ min{0
2
, 1
0
} = 0

x4 ↔ x2.

4. iteracija:



baza b x1 x2 x3 x4 w1 w2 w3

-z 0 -20 -9 0 0 10.5 -70.5 0
x3 0 -2 4 1 0 0.5 -4.5 0
x4 0 -0.5 0.5 0 1 0.25 -1.25 0
w3 1 1 0 0 0 0 0 1

w1 ≤ min{ 0
0.5

, 0
0.25

, 1
0
} = 0

w1 ↔ x3 ili w1 ↔ x4.
Biramo: w1 ↔ x3.

5. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z 0 22 -93 -21 0 0 24 0
w1 0 -4 8 2 0 1 -9 0
x4 0 0.5 -1.5 -0.5 1 0 1 0
w3 1 1 0 0 0 0 0 1

w2 ≤ min{0
1
, 1
0
} = 0

w2 ↔ x4.

6. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z 0 10 -57 -9 -24 0 0 0
w1 0 0.5 -5.5 -2.5 9 1 0 0
w2 0 0.5 -1.5 -0.5 1 0 1 0
w3 1 1 0 0 0 0 0 1



Bland-ovo pravilo

5. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z 0 22 -93 -21 0 0 24 0
w1 0 -4 8 2 0 1 -9 0
x4 0 0.5 -1.5 -0.5 1 0 1 0
w3 1 1 0 0 0 0 0 1

x1 ≤ min{ 0
0.5

, 1
1
} = 0

x1 ↔ x4.

6. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z 0 0 -27 1 -44 0 -20 0
w1 0 0 -4 -2 8 1 -1 0
x1 0 1 -3 -1 2 0 2 0
w3 1 0 3 1 -2 0 -2 1

x3 ≤ min{1
1
} = 1

x3 ↔ w3.

7. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z -1 0 -30 0 -42 0 -18 -1
w1 2 0 2 0 4 1 -5 2
x1 1 1 0 0 0 0 0 1
x3 1 0 3 1 -2 0 -2 1



Leksikografsko pravilo

z = 10x1 − 57x2 − 9x3 − 24x4

w1 = ε1 − 0.5x1 + 5.5x2 + 2.5x3 − 9x4

w2 = ε2 − 0.5x1 + 1.5x2 + 0.5x3 − x4

x3 = 1 + ε3 − x1

xi, wi ≥ 0, 0 < ε3 < ε2 < ε1

baza b x1 x2 x3 x4 w1 w2 w3

-z 0 10 -57 -9 -24 0 0 0
w1 ε1 0.5 -5.5 -2.5 9 1 0 0
w2 ε2 0.5 -1.5 -0.5 1 0 1 0
w3 1+ε3 1 0 0 0 0 0 1

x1 ≤ min{ ε1
0.5

, ε2
0.5

, 1+ε2
1

} = min{2ε1, 2ε2, 1 + ε3} = 2ε2
x1 ↔ w2.

1. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z −20ε2 0 -27 1 -44 0 -20 0
w1 ε1 − ε2 0 -4 -2 8 1 -1 0
x1 2ε2 1 -3 -1 2 0 2 0
w3 1 + ε3 − 2ε2 0 3 1 -2 0 -2 1

x3 ≤ min{1+ε3−2ε2
1

} = 1 + ε3 − 2ε2
x3 ↔ w3.

2. iteracija:
baza b x1 x2 x3 x4 w1 w2 w3

-z −1− 18ε2 − ε3 0 -30 0 -42 0 -18 -1
w1 2 + ε1 − 5ε2 + 2ε3 0 2 0 4 1 -5 2
x1 1 + ε3 1 0 0 0 0 0 1
x3 1 + ε3 − 2ε2 0 3 1 -2 0 -2 1

z = 1− 30x2 − 42x4 − 18w2 − w3

w1 = 2− 2x2 − 4x4 + 5w2 − 2w3

x1 = 1− w3

x3 = 1− 3x2 + 2x4 + 2w2 − w3

x2 = x4 = w2 = w3 = 0, x1 = x3 = 1, w1 = 2, z = 1


